1.

the F A A3t el g

o
< A2

@+ (+3) @ (-H+(+1) @ 0+(-3)
@ (-5)+ (+2) ® (+3) + (-6)
D
Ho7t o8 F A9 &2 AU ato] ddizto] & 59
Ho g 2tk
DN+ (+3)=-(7-3) =
QY+ =-(4-1)=
®0+(-3)=-(3-0)=-3
@ (-5)+(+2)=-(b-2) =
® (+3) + (-6) = —(6-3) =




2.

1-34+5-7+9-11+13-15 & AAts}HA?

@ 68 @ -68 ® 0 @—8 © 8

{

1+(-3)}+ {6+ (-7} + {9+ (-11)} + {13+ (-15)}
(=2) +(-2)+(-2) + (-2)




Evrt & o, a+b

|
o
o
N
s
oju
rlu
4
i
kS
&
HL
i)

|
]
oju
L)
Mo
>

a=-3+4=(-3)+(+4) = +1,
b=-5-(-2) = (-5) + (+2) = -3
wehA] a4+ b = -2 o]t}







(@)x2—|—3x:1 (@)2(x—1):—1+2x

® 3x+5=8—x

® x2 4 3x =1 : U490 Z1AFgto] A2}7} opct,
@2x-2=-14+2x—>2x-2x=-14+2 > 0 =1 (AL 2] o]
ohict.)







2 b s

149 e

9]

K

S
wim 2o
Il I~

L1 00
1"2 3"6 _H_




olJ
RS
%
o8

olig
Nfo

ojn

® -42x(-3)?2 =-144




o, axb O F2?

9 9 9 0
7 ® -7 ® - O)-o

10 9
_39’] Q_/l\_‘az

10

10 2

oAy 0 _ 2
4359 A b=z = =
9 2 9
axb=—15%7="3




— o

<t o

<t
0[N0 1_5

Il | Il I
—

—

0
R







12. axb>0, bxec<0,a>c 4, tte = 22 HL?

@D a>0,b>0,¢c>0 @a>0,b>0,c<0
® a>0,b<0,c<0 @ a>0,b<0,,c<0
® a<0,b<0,c<0

axb>0, bxc<0, a>
a>0,b>0, c<0USg 5 Uk




13.

L o)

[S:X Nes)

oS 2 A QoA AR ABE A
2302 UrH o ¥R 5
£ T

12 9 6 7
o-5 o-; 0; @

A 9} B Ato] A 1 6
A °F C Atole] A7 6 x

cﬂﬂgzpn+%:

12

(SN I )




KN
=

A 26— 3 = 4 o4 ZPS] =3

o}

=

o

HH|

Hof| A 3

o)

S aflof ghet.

IA= el 3 &

t517] 915

o]%




3)3 @ 4 ® 8

@ 2

(-2)+5=3




RS

o
wjp

g

16. o= A

111111

______

_________

|

| |

TN~ o

______ —_
|

~— — ul\

@ © ©

o}
12

]
12




17. tae AR 23z SHLE A2

O

27
20




18. A H7)9] |l 9 frelg TolA ol Al & &2 A= 55t
&S ol . Tt A9t 2520




19. o= F Alte] 4 A2?

D (~15) = (43) = =5 @)1+ (-4)=0
® 30+ (-5)=-6 @ (-8)+(-1)+2=4
® (-21)+3+(-7)=1




20. 3x3.99+97 % 3.99 = AArsHH?

O 11.97 @ 387.03 ® 100
@ 299 ®)399

3.99 X (34 97) = 3.99 x 100 = 399




21, WA 5-2{x=(6-x)} —x=TlIH x ] B2

®-2 @-1 B0 @1 @)

&8

5-2(x-6+x)-x=7
5-2(2x-6)—x=7
5—-4x+12—-x=7
—-5x=-10,x =2




22. WAl S el it ThE A T2

1 —2
@§x+1=x2 @ 3(x+1)-2=4x-1
2
® %+1=x‘§ @ -0.03x = 0.2(1.2x - 2.7)

® 2x+4=6+x

B

D2x+6=3(x-2),3x-2x=6+6,x=12
@3x+3-2=4x-1,-x=-2,x=2
@x+6=2x+2),x+6=2x+4,x=2

@ -3x =2(12x—27) , —3x = 24x — 54, —27x = —54, x = 2
®2x—x=6-4,x=2




23. (x-1):3=(3x+2):4 A x o] gk2?

3(3x+2)=4(x-1)
Ix+6=4x-4
5x = —10

5 ==




24. A 584 a, b, c ol ot Jal < bl <cl, axb>0, axc<0 L o,
2 5 24 &2 Ae Zet

D bxc<0 @axbxc<o ® la+ b| > |a|
@ p+d<id  la-d<p

B ~

axb>0, axc< 09X ap =22 50|, g% c =T
Ko},

Da&c7t AR G2 HTo|BZ ph ek AR TE BGolr},
wEbA] A2 T B3] Folung o Bt At hxc <0
@a>0,b>0,c<0°FHaxbxc<00°]1,
a<0,b<0,c>0°]2Haxbxc>0 o0t

®@atp o B/ ZOBR g+ b & lal+1bl ol a T2 b 2
R35 gold Dk WA ja+ bl = lal + ] > lal

@Dbec O HIIMT2ER ptc = b—c| ol b, ¢ & AHZO|
o & 59 RO E Zo|H " bl <|c| 1B |b+c| = |b-c| =
lcl = 1b] < |e| ©]T.

®atco ROV HEER |a—c| = lal + |c| > |c| ©]H.




_6b+4  x-b+6  x-3

25. ax ) g 3 = WESh= o7 13 4 o, @ 9
g
O @ 2 ® 3 @ 4 ® 5

B ‘

x=13 & HYsHHA

6b + 4 13-b+6 13-3

— — — ol 77
13a 5 S : 11,
1 —
%:zoﬂng

13a—%:2°ﬂ/“]a=1




